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Thenterat & fore =
GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1) RIS FEved S0 U9--3 WX A e foig |

Candidates must write first his / her Roll No. on the question paper compulsorily.

(2) | U FH AEE E |

All the questions are compulsory.

(3) VAT U T TR & TS SRl § & ford |

Write the answer to each question in the given answer-book only.
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(4) T U9l § o @US §, 39 94 % SR U 91 & ferg |

For questions having more than one part, the answers to those parts are to be written

together in continuity.

(5) V-9 % st o STUST WUieR | fREl R @l Jfe / Y / Tk g R fewst aror o uee
B el A |
If there is any error / difference / contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

(6) WA |E=AT 3 UA® U9 IO i IIeT |iT
1-6 1 20 5
7-14 2 40 s
15-24 3 100 ¥1sg
25-29 4 150 ¥1sg
Q. No. Marks per Question Word limit of Answer
1-6 1 20 words
7-14 2 40 words
15-24 3 100 words
25-29 4 150 words

(7) e GE&A 30 g B W Geid & A4 SFH AT |

Q. No. 30 is related to map-work carrying 4 marks.

(8) YT EEAT 159 17 H 4 {2l S b ST BT | U9 T 18 & 25 ¥ 29 T § 3ficd{eh forsheq € |

Two questions are to be answered from Q. No. 15 to 17. There are internal choices in

Q. No. 18 and 25 to 29.

(9) YT G 31 ST UM H, 7 AHHE |

Question No. 31 is of 7 marks, has two parts.

S-08-Social Science



10.

11.

3
FHOT = forg feEeE o “quT @RS H HAT 62

In which session congress demanded “Purna Swarajya” ? 1
fohe o vroTTett W TR fafaerdneti & Qs T fomar s € 2

Which form of government accommodates Social diversity ? 1
31 1 3t I & ToehIa sht ot o1 SUFeRT 1Y 1 € 2

What is suitable measure for comparison of development between two or more countries ? 1
fafre = are wa g 2

What is medium of exchange ? 1
To7erer &1 379 ferfa |

Write the meaning of investment. 1
YIS AT 3 s &1 € A |

Write any two ways of consumer exploitation. h+la=1
STTCTATeTeT ST BeaTehis X HieTe feuqot fefa |

Write a short note on the Jallianwala Bagh massacre. 2
oA ST fohd hed € 9

What are Rare Species ? 2

TR H S fafeasar w7 89 % $iE 9 SR e |

Write any four causes of declining biodiversity in India.

Tg-3LIMF =T TRASTIST i BT OR BT fAre? |

Write any four demerits of multi-purpose river projects.

ATATHTT T FH T 7T T |

Explain impact of Globalization on agriculture.
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Va+Va+ Vot Vo =2

Vi+h+1h4+1ls=2

2

[ Turn over



12.

13.

14.

15.

16.

17.

18.

19.

20.

AT @S & g JF ITANT fArad |

Write any two uses of Copper mineral. 1+1=2

&1 UGHUT & T IR HRUT [ARIT |

Explain any four causes of noise pollution. Yo+ Va+1o+12=2

T T RIS IR 497 3= & ?

What is the difference between International and local trade ? 1+1=2

AT TR HE& 15 9 17 ° 9 fel &t 7 o SR AT |
Note : Attempt any two questions from Q. No. 15 to 17 :

198 Tt § forver STefeeren § 37 dehieh! URerd-l 1 g Hifsy |

Describe the technological changes in World Economy in 19™ Century.

T3 & foTT ISR H 990 & 98w il THemey |

Explain the importance of Advertisement in goods market.

IIFel T&T % Heg H da8 ol A GHE3T o1 g0 Hifed |

Describe the Housing problem of Bombay in the mid-nineteenth century.

T Ie ) feout fafeg |

Write a note on Vienna congress.
3rar/OR
forgemme = i stafaferes R & wpal | foxty &1 aue St |

Describe the Resistance to France colonial education in schools in Vietnam.

“3Ih TAIR FArhas SR, SR & 99 M € 17 379+ 1 o 98T | diF deh Jiotd |

“According to your view democracy is accountable, responsive and legitimate

government.” Give three arguments in favour of your view. 1+1+1=3

3T & Ty | YR Ashals H i § difed GuR a0 ST Fed € 2 [l di genfad umi 1
U HifTT |

Which desirable reforms can be done in the present context in Indian democracy ?

Describe any three possible reforms. 1+1+1=3
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21.

22.

23.

24.

25.

26.

27.

28.

HIE B: FESIHh Grorereti o A1 fof@u |

Write any six public facilities. ax6=3

IR Ue STHII=Reh & F0T H g & 3= Jasy |

Give any two differences between formal and informal sector credit. 12 + 112 =3
TEIET BT & BiE & oY FeArEy |
Write any two benefits of Multinational Corporations. 12 +1% =3

SUIHAT forael & Fuer & few wnfua —=nfaes o st 9HeT=y |

Explain the Judicial machinery for redressal of consumer disputes. 1x3=3

T[T Shifcl o HTHeh AT Sl foereT st |

Discuss the Religious effects of the Print Revolution. 4
3ar/OR

U AE 1 ek b fae1 & | SRS it |

The novel is a modern form of literature. Explain it.

TEYT G 97 U € 2 9 Ue 3Foig GO 1 G0 HifeT |

What are resources ? Describe biotic and abiotic resources. 1+1%2+1%2=4
UaT/OR

TT 3R & HRUT Ud THF GRTU1 o 3 feafgd |

Write causes and methods of conservation of soil erosion. 2+2=4

QTR TSI | 3T €T URUT T Fahell & |” fohl o) w6l fod=m sifsid |

‘Communalism can take various forms in politics.” Explain any four forms. 4
Fa/OR

“HiEeAT o W T Wl FF e o HSW el & |7 T FH2T Bl I8V Wed AT Sty |

“Even today, women face many discriminations.” Explain the statement with examples.

AT | “Tlehdd % foTa SO =T i faa=aqr it |

Discuss Nepal’s “Second Movement for Democracy”. 4
FUar/OR
oA B TSR et b fohT TR 3T TIEAT heaT TSl & 2 ST hifotd |

Explain the challenges which are faced by the political parties in democracy.
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29. e, T5ciees Ua Joiae &=ehi i I3TEXUT i Herdl ¥ qHEMET |

Explain the primary, secondary and tertiary sectors with help of example. 1%2+12+1=4
Fgar/OR

T ATHIOT ISR TR (21 T B SAIHR” FT el T T 2

Why is the National Rural Employment Guarantee Act called “Right to Work™ ? 4

30. (3) U T IR % Y@ wEtes 1 Frefefad o sifed St
() Hom (i) 3R
(A) Mark the following in the given outline Map of India :

(1) Salem (ii)) Durgapur 1+1=2
(&) U W 9Ra & AFres § fFEAfaiad s 3ifed S

(i) =-=ER (i) SHoTeReT
(B) Mark the following in the given outline map of India.

(1) Chauri-Chaura (i1) Calcutta 1+1=2

31. (3N “IRAE Waum H 5 o T o g [GumE SAERT o Ji T § S /™ 3q e
I QIR0 AT DIt |

(A) “The Constitution of India clearly provided a three fold distribution of legislative
powers between the Union and States. ”” Explain the statement with examples.

1+1+1=3
@) (1) TSI UREs Giaensti & et SUNT i Uiealed S 1 U ey ford |
(i) TEH IS H FI Tk HRUT fARAT |

(iii) ATIRERT T AT o FEET Ta TgH G & TR H STHHR! S 37h 5T TR i
TR I ST Fehell € 2

(B) (1) Write one medium for maximum promotion of Public Transport facilities. 1

(1)) Write any one reason of road accidents.

(111) Which right of the citizens can be protected by imparting knowledge to them
about traffic rules and road safety. 2
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